Name:i E \f Hour: Date:

NOTES: Sections 4.1-4.2 - The Coordinate Plane and Graphing
Linear Equations

Goals: #1 - I can plot points in a coordinate plane.

#2 - 1 can graph a linear equation using a table of values. @ (-7 ] 3"*;

Homework: | \\\LI E l\\)ovﬂw\ \\N 01 \LSWU

Exploration #1: Work with a partner.

4 B
1. Plot the following points: 5
p -
Point A: (-2, 3) AL,
Point B: (5,6) ;
S o s 43 200 1 234 56|
PointC: (—4,-1) L"f -1
Point D: (4,—2) v
-4
Point E: (0, 3) -5
:‘

Notes:

A (Qb\ d\ n(LK \7 \0.,‘ i& is formed by two real number lines that

intersect at the _(Q Y \ % | ﬂ
The horizontal axis is called the X O\X‘ S

The vertical axis is called the % . LLX l :g

The coordinate plane is divided into four regions called _(1 \) (l (X\( (Li ] Jf )
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Each point in a coordinate plane corresponds to an 0 f MY Qd \? Od r

(X, M )

N

The X_-coordinate tells us how far to move \ Q € "' or__Y1 % hf ;
The %_-coordinate tells us how far to move Uy or _dM
i )

Example #1: Write the ordered pairs that correspond to points 4, B, €, and D. What
quadrants are these points in?

Y

2 4 (3,0) 22(2,3) ce(31) an (-2 -2)
X~ KIS T pis aus

Exploration #2: Work with a partner.

R ¥

1. Plot the following points: \‘ :
Point A: (5, 6) A !

Point B: (1,-3) NT°

1
Point C: (3,-6) g g -:\z \ 2 34 58 |

Point D: (—3,3)

Point E: (—1,0) N
What do these points form? ¥ \
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Hour: Date:
Notes:
A \ \ m 0\)( ¢ (l \J (Ltlo n is an equation that can be written in the form:
Ax+Bg(J
- AX
Ax+ By =C By = -__AX_.L.(_'

B

©
y-gxr g

An equation that is written in N ﬂ U’Nl\ form is when we solve the equation for _lj_

A “\G\Uhm_ofan equation is an (n m,! UL ¥ (L!k (x,y) that makes

the equation true. (Just like when we checked our solutions when we solved equations!)

Example #2: Determine whether the ordered pair is a solution ofx+ 2y =5.
a. (1,2) . b. (7,-3)

M+7) =5 tn*2(3

RIS T+-g =9 /l

H=5V \ %5

Example #3: Write the equatlon 6x + 3y = 18 in function form.
UX + D = \%
Xy
ég:—bX;lK
You practice: N = -2 + b\

1. Determine whether the ordéred pair Is a solution of 2x + y =1
a. (-3,7) S b. (- —6)

2(-3) ¢ (1) = | Z(_‘j_\ (- ‘O\ _; l

R 5101 ]

| =iy N7

2. Write the equation 4y — 3x = —28 in function form.

¥3x r3x
ii:%x«ZB
4 4
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Example #3: Use a table of values to graph 4y — 2x = 8.

X

y

-4

1:? (_’ﬂ“‘ _ Z

22 1O

1~ JiU\s'?' 7

L.’.-

L W [|N |~ O

You practice: Use a table of values to graph y = 3x — 2.

x |y
-2 | %
=f | =5
60 | -L
\ l
Z |14

Hour: Date:
4y -2% = % (j;
rlx «IX ‘
l‘*\{t Zx + 8 p
NIt T
A"“/“‘z‘/“-‘ 210 12348 ;"
£ 2
4
o
y
N=3(0-¢ : )1
501 v,
v it I_/
\I‘-,S}"?_)’l "o 5 4 3 2 l § Jy 2 3 4 s '
-23\)-2 -
Y3 of
y =3t /
N=4
/
2

CHALLENGE: How could you graph this line a different way?
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